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HISTORY
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note -— This paper contains Seventy five (75) multiple choice questions. Each

question carries two (2) marks. Attempt All questions.
1.  The Harappan trading post of Shortughai was located in :
(A) Afghanistan (B) Maharashtra
(C) Saurashtra (D) Iran
o Consider the following statements about the Harappan Civilization :
(1) The Great Bath at Mohenjo Daro was perhaps for ritual bathing
(9) The town-planning is superb
(3) ~ Each house had a well
(4) The Harappan seals are found in other -::unterﬁpnrar}.' civilizations

Give your answer from the codes given below :

Codes :
(A) (1), (2), (3) (B) (3), (2), (4)
(C) (@), (3), (4) (D) (4), (1), (2)

3. River Chenab was known in the Vedic Literature as :
(A) Asikini (B) Parushni

(C) Vitasta (D) Shatudri



EAGEAL:)
oe-ux 111

HET : 2% HUS [qurias @ 150

T W WE-T F 75 (UeER) wghEEET WA ¥ uSw W @ (2) s @ E
wift e s S .

1. &89 I SA9F Wd Vi Fe W fem @
(4) TR (B) W
(C) Hnrg D) &
2. mm%aﬁﬁﬁﬁﬁf@aﬁﬂﬁmwm:
(1)  Henicg w1 fowme SR e s aaeR TR o
(2) THH TR-GNT TR
(3) wdw W H g w
) T F gel o HHeRl quwel ¥ ww @ #
AM IW w9 e FF | wifam .

33_5." -

(A) (1), (2), (3) (B) (3), (2), (4)

(C) {2), (3), (&) (D) (4), (1), (2)
3. Tom = =t dfcw ot d 1 wm s @ 2

(A) =il (B) W&o

(C) fao=m (D) wigal

T.B.C. : 20114/ET—III 3 P.T.O,



4. Which was not a sub-sect of Hinayana (Theravada) 7
(A} Vijnanavada (B) Sarvastivada
(C) Dharmaguptika (D) Sautrantika
5. Piprahwa is situated in which district ?
(A) Basti (B) Shravasti
(C) Sant Kabir Nagar (D) Siddhartha Nagar

B. Which of the following inscriptions of Ashoka refers to his desire for religious

toleration among all the religious sects ?
(A) Major Rock Edict V (B) Major Rock Edict VII
(C) Major Rock Edict X (D) Major Rock Edict XI
1. The Mahasthan Inseription of about the third century B.C. mentions :
(A) The Police System (B) The Army Organisation
(C) Famine relief measures () The bordern tribes
8. On whose coins the name of Muthgr Goddess Uma appears ?
(A) Maukhans (B) Kushanas

(C) Guptas | (D) Vardhanas

TB.C. : 20N4/ET—III 4



BAH (@) 1 B9-Ha BEE A 91 ?

(A) fagmaR (B) walfiarg
(C) wimias (D) Hrf=ew
foroeen 2 fodt & fom % 2

(A) == iﬁ} ST
(C) wa FarTmw (D) fagrdTr

i % frafefen e sficra 8 s g @t aifs w0 3 4 wids o
H = W IeeE T 7

(A) ¥=1 ¥§ e v {E}a@%mm
(C) & ¥& o X (D) q&1 ¥\ T XI
Wﬁ?ﬁmﬁﬁ.mﬁweﬁﬁmﬁﬁﬁgﬂm%;
(A) Ifew e (B) s wem

(C) I Ted 39 (D) et sefaat

freat qEell & wW wgedt 3w = AW fTEE vew ¥ 2

(A) wrafE =1 (B) ol =i

(C) =i ® (D) aHHE T

T.B.C. : 20N4/ET—III 5 P.T.O.



8. Give the chronological sequence of the following :
(1) Kanishka
(2) Pushyamitra Shunga

(3) Rudradaman I

(4) Kharavela

Codes :

(A) (2), (3), (4), (1) . (B) (2), (4), (1), (3)
(C) (4), (1), (3), (2) (D) (4), (2), (1), (3)

10. Varahadeva, ‘who got inscribed inscriptions in Ajanta caves, was a minister

of which Vakataka ruler 7
(A) Sarvashena I (B) Vindhyashakti
(C} Pravarasena | (D) Harishena

11. The Gupta King who issued the Elephant-rider type of coins for the first

time :
(A) Samudragupta (B) Kumaragupta 1
(C) Chandragupta II (I Skandagupta

T.B.C. : 20/14/ET—III 6



9. Tefafes = soashs w9 § s . [ o
(1) =fass
2) gef g
(3) wEEA W
(4) TEE
o
(&) (@), (3), @), D) : (B) (2), (4), (1), (3)
(C) (4), (1), (3), (2) D) (4), (2), (1), (3)
10. &o=w T TES H IR FEH T WEed Y dREE vEE ® A= 9 7
(A) TEEY HuH (B) fomamfam
(C) wETEF W™y (D) ®Em
11. wmmﬁﬁuﬂnﬁmﬁrmaﬁmmﬁﬁ:
(&) TETH (B) AN T9H

(C) ==w T (D) TF=aw

T.B.C. : 20/14/ET—IIT 7 P.T.0.



12. Of the following, who is the exponent of the philosophy of
Achintyabhedabheda ¢

(A) Shankara (B} Ramanuja
(C) Nimbarka (D) Madhva
13. What is the meaning of term Samavartan 7
(A) It was performed at the time of marriage
" (B) It was performed to gain supernatural powers
(C) It was performed after the completion of education
M) It was a purificatory rite

14. Which of the following Chola queen built the Jaina temple at

Vijayawada ?
(A) Ayyana Mahadevi (B) Kundavai
(C) Silamahadevi (D) Kundala Mahadevi

15. Consider the following statements about Early Medieval India :
(1)  Tantricism became widely prevalent in India
(2)  The Siddha Movement gained ascendancy
(3) The Samantas became the landed intermediaries
(4)  Guilds became more powerful

Select your answer from the codes given below :

Codes :
(A) (2), (3), (4) (B) (1), (2), (3)
(C) (1), (3), (4) (D) (3), (4), (2)

T.B.C. : 20/14/ET—III 8



12. ffatem 3 59 sfesadesie g3 & gfaoes & 2
(A) ¥T (B) THETIS
(C) f=a= (D) T
13. WHTEAA Y= § # awead ¥ 7
{A}%ﬁwﬁwwﬁm‘mm
(B) =TE Fenlws WiEmdl & Ww % & &0 99 &3 o @
(C) = e wmrg 2R & 9996 994 T o o
D) = % Tfeww AT=F o
‘14. mwmﬁﬁm'ﬁﬁ#nﬁtmﬁnﬁm?
(A) =T FEREt : (B) F=as
(C) Toomemsl (D) wH<en HERE!
15. T8 WEFEE YRG & 91 H EaiEg wY9E 9 fEen sy
(1) 9%d ¥ 9% =096 ¥9 4 yEiea gen
(2) oz wr=mm gveeme =59
(3) == 4y & fasifar =7 o
(4) W.{ﬁlﬁ}mmﬁraﬁnﬁ

Fom I e w9 9

& -
(A) (2), (3), (4) (B) (1), (2), (3)
(C) (), (8), (4 D) (3), (4), (2)

T.B.C. : 20N4/ET—III o P.T.O.



16. Of the following, which is nof matched correctly ?
(A) Parshvanath—Snake (B) Shantinath—Pashupati
() Mahavira—Lion (D) Adinath—DBull

17°" Match List T with List II and select the correct answer from the codes given

below the lists :

List I (Authors) List I (Works)
(@) Jimutavahana (1) Pramanamimansa
()  Devanabhatta | (2)  Lilavati
{e) Hemachandra (3)  Vyavaharamatrika
() Bhaskaracharya (4}  Smritichandrika
Codes :

la) (b} (€} (d)

T A @ (4) (1) (3)

(B) (3) (4) (2) (1)
(C) (3) (4) (1) (2)
o (@ (3) (4) (1)

T.B.C. : 2014/ET—III 10



16, fTr=fafes & =0 w6 dr @ gofas & & ?
(A) rveg—d (B) Yni-ag—asafa
(C) werE—fHg (D) anﬁmﬂ—ﬂa

17. g & gt 11 § gifen sifag oo gfed @ 9= G2 ™ 52 3 a9 3w =

Tt 1 (era®) oot 11 (FF)
(a)  iEETEs (1) FAPmEE
®) 2EUTHg ¥ J . (2) e
) TEE | (3) Emmm
@ e - @ et
C T

(@) (b) (e) (d)
A (@) (4) ®» @
B)  (3) (4) (2) (1)
© ® (4) (1) (2)
O (@ {:i} (4) ey

TB.C. : 2014/ET—IT " m P.T.0.



18.

19.

Match List I with List II and select the correct answer from the codes given
below the lists :

List I (Inscriptions)  List IT (Kings)
(@) Mathura Pillar Inscription (1) Kumargupta I

(b) Bilsad Stone Pillar Inscription  (2) Chandragupta 11

(¢) Gwalior Inscription (3) Mihirakula
(d) Madhuban Copper Plate (4) Harshvardhana
Inseription
Codes :
(a) (b) (c) {d)
A @ 4) - (D (3)
® @ @ 3) @)
© B (1) (4) (2)
O @ (2) (1) (3)

Given below are two statements, one labelled as Assertion (A) and other
labelled as Reason (R) :

Assertion (A) : The guilds of artisans got inscribed the votive inscriptions.
Reason (R) : They faced some economic erisis.

In the context of the above two statements, which one of the following is
correct ?

(A) PBoth (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) aﬁd (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

T.B.C. : 20/14/ET—II1 12



18. g I =1 gt 11 8§ gifea =it o gfed & 99 3 ™ 528 4 w6 s =
Wﬁm:

et 1 (sifirera) el 11 ()
(@ AY0 = we sfveE (1) =HORTE oY
b) foegg oo wy sfwemm | (2) ==Tw e
(e)  TEMEER fictE (3) Tafersa
(d) AYEA AE-TH e (4) wHadA
e

(@) (b) (e) (d)
A (2 @ - A (3)
B) (@2 (1) (3) (4)
w @ (1) (4) (2)
D @ (2) (1) (3)

19. = 9 9= 58 ™ §, ™ F e (A) F@ T ¥ AR gE F SR (R) ¢
HAT (A) : AE (Guilds) 7 99 (Votive) 3foera s=l wEm |
HA (R) : 5= o sofifs g% =1 @9 &6 9=
IF T TEsl & wed § Fefafem d @ FEw owd § 2
(A} (A) 3R (R) gF1 =& § 791 (A) &1 96 == (R) &
(B) (A) 3R (R) =@ =@ ¥, =g (A) 1 w& == (R) T @
(C) (A) =& & fFg (R) ™o %
(D) (A) Tem T f5g (R) 591 %

T.B.C. : 20/M14/ET—III 13 F.T



21,

Given below are two statements, one labelled as Assertion (A) and other
labelled as Reason (R) :

Assertion (A) : The Cholas took keen interest in agriculture.
Reason (R) : They made periodic land surveys.

In the context of the abové two statements, which one of the following is

correct ?
(A) Both (A} and (R) are true and (R) ig the correct explanation of {A)

(B) Both {A) and (R) are true but (R) is not the correct explanation
of {A) '

() (A) is true but (R) is false

(M) (A) is falze but {R) is true

‘(iiven below are two statements, one labelled as Assertion (A) and otber

lahelled as Reason (R) @
Assertion (A) : Ashoka dedicated caves to the Ajivikas.
Reason (R) : He was generous towards all the religious sects,

In the context of the above two statements, which orne of the following is

correct ?
(A) Both (A) and (R} are true and (R) is the correct explanaﬁion of (A)

{B) Both (A) and (R) are true but (R) is n'oit. the éor‘rect explanation
of (A)

() (A) is true but (R) is falsec

M) (A) is false but (R) is true

TB.C. ; 20N4ET-I11 14



20. = & W A MW E W wUT (A) T3 0§ SR gW F SR (R) ¢
HOT (A) : I A Fu H o= oA @i
WA (R) : T2 ol qH-wEgw feu)
Tvia A s @ ey § frofefEs § @ SEE wE ¥ 2
(A) m}ﬁnm}aﬁinﬁf%ﬁmimﬁ@wmﬁ-
B) (A) I (R) I W@ F g A W TR e R) T
() (A) @8 ¥ f5g (R) @ &
D) (&) Tom ¥ frg R) T ¥

91, A 2 Wy ¥ @ ¥, UF W HEUT (A) wE T & AR g H &wE (R)
AT (A) : IWE F F[SAaH B TEY FEGT H
AT (R) : 58 G4l it =di & wfa sE 41
Sriw @ wEE &l § Frefatas § ¥ S W@ 2
() W) SR ®) I T E AW (A) W = (R)
(B) (A) 3 (R) T ® %, fFg (A) 1 ¥dl =rew R) T ¢
(€) (A) W % fg (R) oW ®
D) (A) Tem ¥ fE (R) W@ ®

T.B.C. : 20N4/ETIII 15 P.T.O.



22.

Given below are two statements, one labelled as Assertion (A) and other

labelled as Reason (R) :

Assertion (A) : New religious beliefs found wide acceptance in South

India.

Reason (R) : The exponents of all the sects belonged to the high

castos.

In the context of the above two statements, which one of the following is

correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B} Both (A) and (R) are true but (R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
@ (A) is false but (R) is true

Which of the following pairs of Pratihara-Rashtrakuta kings were not the

contemporaries 7

(A) Nagabhatta-1II—Govinda-I1I
(B) Rajyapala—-ﬁmughavarsha-ﬂl
(C) Vatsaraja—Dhruva

(D) Mihirabhoja—Amoghavarsha-I

T.B.C. : 20114/ET—III 16



22, M @ = RA T O W OwYR (A) TP O ¥ o gE W HmRW (R)
HYT (A) : IO G ° T uidE faenl # waie =wn e
Wiﬂjtﬂlﬁﬂﬁ%mﬁmﬁwﬁuﬁﬁl
g @ w3 o § frofafes § @ S wd@ ¥ 2
(A) (A) 5w (R) €t @& ¥ 3w (A) ¥ @ =mew (R) ¥
(B) {maﬁt{maﬁf@%ﬁﬁwﬁaﬁmfmﬁ%

(C) (A) w21 § fog (R) 7o %
(D) (A) 7| ¥ Feg (R) W&t %

23. T=ioiEd WiaER-TeHe FE % T § SEd G9FEE T8 9 ?
(A) Arvg fidE—ifa=s gda
(B) TAIe—adray e
(C) T =E—Yd

(D) THfEvS—amreEy w9y

T.B.C. : 2014/ET—III 17 P.T.O.



25.

26.

27.

The Sigariya paintings are located in which country i
(A} Thailand (B) Cambodia
(C) Vietnam (D) Sri Lanka

Which Chola King made the grant of land to the Shailendra King of Sri Vijaya

for constructing a Buddhist Vihara at Nagapattam 7
(A) Vijayalaya (B) Rajaraja I
() Sundar Chola Parantaka II (D) Aditya 1

Peter Mundy (1596-1667), a European traveller wrnté that within 3 Kos of
Fatehpur, there is ruinated building, named, Gunga Mahal, that is the ‘house

of the dumb’ built by :

(A) Humayun (B} Akbar

(C) Jahangir (D) Eaja_Mansingh
Begum Samru built a historical Church at .

(A) Kanpur (B} Jaunpur

(C) Sardhana (D) Lucknow

TRB.C. : 2014/ET—III 18



24,

25.

26,

27,

T s e g 2w 8 & 2
(A) 9EeE (B) e

(C) fomam (D) =i

o s R A oA o B Yo R A T o w0 3

F1 HAEA K= ?
(A) fasarem (B) T=Us 99
(C) F=1 ¥ Wraw T (D) @nfee wom

qﬁﬁm_uﬁrﬁagﬁuﬁsﬁ-zﬁﬁﬂ%m&mﬁﬁamﬁwﬁ,aﬂ
TF W TR B e Tm g m wea’, sl P e o) S8 fefate |
¥ e s a1 ?

(A) ¥ (B) ¥

(C) @I (D) =1 HHTEE

4y ¥uE 7 Ufeetes =<4 = s7=mw @ 7

(A) TR - (B) SR

(C) w9 (D) &1

T.B.C. : 20/14/ET—III 19 P.T.O.



29.

30.

al.

Chilli and potato were introduced in India by the :

(A) Dutch

(C) Portuguese

Which Mughal empe

it 7
(A) Humayun

() Jahangir

Turikh-e-Firozshahi was written by :

(A) Amir Khusrau

(C) Minhaj Siraj

(B)
(D}

(B)

(D)

(B) English
(D) None of these

ror considered Sati as a social evil and tried to eradicate

Akbar

Aurangzeb

Abdul-Malik Isami

Shams-i-Siraj Afif

Match List I with List II and choose your answer from the codes given

below :

List I (Travellers)

(1) Ibn Batutah

(2)  Niccolao Manuccl

(4) Mahmood Balkhi

Codes :

(1)
(A) (d)
(B) (et
(C) (c)
(D) (b}

TR.C. : 2014/ETIII

(3) Afanasy Nikitin -

(2)
(e)
(b)
(b)
(z)

(3)
(a)
ic)
()
(d)

20

{a)
(b)

(d)

(4}

(b)
(e}
(a)
e}

List II (Native Countries)

Russia
Persia
Italy

Moroceco



28,

29.

30,

31.

TB.C

fod @ o9 =) 9%a § F5 7 7
(A) =9 (B) 3=
(C) TEmmE (D) T8 ¥ K &

mwmﬁﬁyﬁwaﬁ@:mwm@mmmﬁw
g T ?

(A) 7 (B) @

(C) wEhR (D) SR

AN TE-U-fsTE s g foet 2

(A) oI FEA - (B) @r=e mfe® T
(C) fo=mw faus : (D) 79-T 509 3HE

T 1 ® ogd [ § gafem =it @ 4R T8 o w2 § 8 e s g

Het 1 (amsh) gt 11 (397 @ Frard)
(1) == =g (@) ¥4
(2) frmmms =T &) 3
(3) T fAfERTT ()  zee
(4) wegR wewet (d)  HrEw
T

(1) (2) | (3) (4)
(A) (ed) (e} (a) (b)
(B) (a) (b) (e) )
(C) (e) (b) (e (ce)
(D) (b) (a) (d) (e)

: 20114/ET—III 21 P.T.O.



32,

33.

34.

30.

T.B.C. :

Hill Chief Raja Rajrup of Mau palyed significant role in getting victory for
Aurangzeb against Dara Shikoh in the battle of :

(A) Dharmat (B) Samugarh

(C) Deorai (D) Thatta

Prithvi Raj, the chief of Srinagar Garhwal, married his daughter to :
(A) Prince Salim (B) Prince Khusrau

(C) Prince Shuja () Prince Sulaiman Shikoh
An order issued by a prince was known as :

(A) Farman (B) Nishan

(C) Manshur ) | (D) Fat.waﬂ

Match List T with List IT and select the correct answer from the codes giver
below :

List I (Rulers) List II (Titles)
(1) Timur (@) Jannat Ashiyani
(2)  Babur (b)  Arsh Ashiyani
(3) Humayun (¢} Sahib Qirani
(4)  Akbar (d)  Firdaus Makani
Codes :

(1) (2) (3) (4)
(A) (b) (a) (e) (d)
(B) (e) (ed) la) (b)
(C) (cx) (b) (e) (c)
(D) (b) (e) () (a)

20/14/ET—III 22



39. NI * TFE =% T UEEY 3 dmem w e fyee w T vwm v 5 e
74 d weeq g | & 2

(A) =TE (B) FMTE

(C) Zawd (D) g
33. AW TEaw F TS JEWE A T ¥ ® wel el wm odf 2

(A) FaTe T (B) 90 GFd

(C) TEUS I[Em (D) Tous gemm e
34. UFE TomAR g0 W0 A T sRy wEena o

(A) A . (B) T

(C) "9 - (D) Faal

35. | 1 @1 g1 [1 8 gafes-sifve @ 99 &g 52 9 98 I & T
'ﬂﬁﬁT{:

T 1 (ITE) et 11 (37f)
(1) &% (@)  Ta i
(2) =R (b) el amfyrErn
(8) T4 (c) wfem fart
(4) e (d) TrEs wr
che

(1) (2) (3) (4)
(A (b) () (e) {d)
(B) o) (d) (@) (5)
© (@ b) (c) (d)
™ o) () (d) ()

T.B.C. : 2014/ET—III 23 P.T.O.



36. Arrange the following monuments in ecorreet chronological order :
(L) TOT.HE of Safdar Jung, Delhi
(47 Tomb of Akbar, Sikandra
(iiiy Tomb of Hunm.yun, 1;eihi
(i} Tomb of Rabia Dufani, Aurangabad

Select the correct answer from the codes given below :

Codes :
(A) (i), (it), Gu), () (B) @), Gi), (r'-f.é), (i)
QY (G0), G, (&), vy . - M) (), ), G1), L)

37. Three fold divisions of Chieftains i.c. {f) autonomous (7i) intermediary and

{{it) primary zamindars werc brought out by Professor :

(A) Nurul Hasan - (B) M. Athar Al
() J.8. Grewal | (D) M.A. Ansari

38, Who among the following rulers called aimes (holders of Charity land) as

the ‘army of prayers’ 7 -
(A) Babur ~ (B) Humayun .
(C) Akbar ' (D) Jahangir

T.B.C. : 20n4/ET—III - 24



36.

frefafen ol % off $@-FER satem wifw
() FER I T wwew, e

() wa F wEau, foweg

(i) T =1 wwaw, faee

(iv) Ul g =1 wwau, siomEm

2 R T wF 4 ¥ W@ I w W Fh

e
(A) (@), G, (i), @) (B) @), (&), Giz), (iv)
(C) (i), (i), (2), (iv) D) @), @), (), (i)

Hfee & d= il § fasem, sufq o) AEEMT i) seoifeed @ () wEEd
woeRr fem drhat A @ 2

(A) 7&H B (B) UR. e e
(C) Suy TEE (D) URYU WA

freaffias § A fhw arwme 3 T (4 7R TR AR) BN

F& ?
(A) = (B) T

(C) o (D) iR
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39.

40.

41.

The Indian Institute of Advanced Study (ITAS) was set up by the Ministry

of Education, Govt. of India in 1964 and it started functioning from :
(A) October 20, 1964 (B} October 20, 1965

(C) December 25, 1965 (D) December 25, 1964

The term Dallal refers to :

(A) Revenue official

(B) Judicial official

(C) a middle-man transacting commercial activities

(D) a religious person

In the 18th Century, De Boigne, a French mercenary served to :
(A) Mughal Emperor Muhammad Shah

(B) Madhoji Scindhia

(C) Raja Sawai Jai Singh of Jaipur

(D) Raja Ranjit Singh
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39, wRa wE @ foan WA g 1964 T sfeam =R % teane =i e

fFm T SR T o wE TR TR s
(A) sFR=eR 20, 1964 ¥ (B) 3m@a 20, 1965 &
(©) femwr 25, 1965 & D) Feemr 25, 1964 A
40, I VI I W@ ¥
(8) @A Afawrd
®B) =frE sfeEd
(Gj_wmﬁmnﬁﬁﬁaﬁ@imﬁmﬁﬁﬁﬁml
(D) % uifds =i
41,  wEE TR @-Emd ¥ 18dl v § feud el el # oot 2
(A) e weye Herie e
(B) wrH fafeEn
(C) AR & T=1 T8 SHHe

(D) T Toeite fog
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42,

43.

Researches done by the scholars of subaltern school are based on the

works of !
(A) Antonio (Gramsci (B) Karl Marx
(C) Marc Bloch * (D) Demrmda

Match List I with List II and select the correct answer from the codes given

below :
List I (Event) List II (Person)
(1) Founded the city of Amritsar (@) Guru Arjun
(2)  Organised cm-nmunit}' under (b) Guru Govind Singh
twenty four Manji or local
leaders
(3) Establishment of Khalsa () Guru Ramdas

(4) Completion of Harmandir (d) Guru Amardas

Sahib
Codes :
(1) (2) (3) (4)
(A) (d) (e} (er) (b)
(B) (e} (d) (b} (a)
(C) () (e) (b) ()
(D} (c) (d) (@) (B)
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42, TaUed faumum | oOF @ fageil g fRu vy W fee fagm @ @

w anenfE 7
(A) U=rfAa et (B) e mEd
(C) #= =lie . (D) Ef=

43, qﬂlﬂw;;ﬁg&mmmﬁn@#nﬁmmwﬁm:
TaEt 1 () gt 11 (=afa)
(1) gow #1 Fa @it (@ TE A
(2) e e AgE w@EE el (p) E tifes He
& =rld 9RH™ (Community)
&l Ta
(3) oIl Hi TG (¢) % THEE

(4) Tl "ed & fmm g - (@) TF auEE

e

(1) (2) (3) (4)
(A) (d) (e} (a) (B)
(B) (c) (cf) (&) (a)
(C) () (c) (b) (a)
(D) (c) (d) (a) (b)
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45.

46.

Adi Granth was compiled by :
(A) Guru Ramdas (B) Guru Arjun
(C) Guru Angad _ (D) Guru Amardas

To which clan did Shah Begum, the wife of Jahangir, who committed suicide,

in 1604 and her sumptuous tomb was built at Allahabad, belong to :
(A) Quayamkhani clan (B) Kachawaha clan
(C) Rathore clan - (D) Bhati clan

Which of the following were not general functions of a Muhtasib in the Mughal

period ?

(i) Checking consumption of liquor, gambling and illegal transactions
(i) Ensuring standards in weights and measures

(iii) Maintaining an efficient spy system

(iv) Managing Karkhanas of the empire

Select the correct answer from the codes given below @

(A} (i) and (i) (B) (i) and (iv)

(C) (i) and (iii) (D) (&) and (iv)
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44.

46,

e 9 w1 SFed 5@ o1 -
(A) 7% THEE 3 (B) TF a7 3
(C) T& & 3 (D) & ¥EE A

mﬁm,ﬁﬁrﬁ?ﬁwﬁr,mﬁmmﬁmﬁeﬂﬁmmww

TeeER H oS T o, few aw ¥ gefum of 2

(A) FrEwEET =59 (B) wwgarel 59
(C) TR & ' (D) W& 57
Frafefen & § T 4 geafes % 590 = 98 3 2
(i) Y&, 9U U MY WH-27 W UF w0

(@) W9-9F ¥ 99F (Standards) ST TEAT

(i) TH HIW TEH FEeq T @

(fv) WY % FHEFE F FEEE

= =3 4 3 28 s o= = *ifm

(A) @) 3 G (B) (iii) ¥R (iv)

(CY (i) 3 (iid) (D) (i) 3 (iv)
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47. Given below are two statements, one is labelled as Assertion {A) and the

other is labelled as Reason (R) :

Assertion (A) : The Portuguese and Dutch trade rivals were eliminated
by the English East India- Company by the end of the seventeenth

century.

Reason (R) : The English traders sold goods of superior quality at cheaper

rates.

Read the above statements and select the correct answer from the codes given

below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

M) (A) is false, but (R) is true

48. Who among the following viewed that Indian Village Community was self

aufficient ?
(A) Louis Dumont (B) Irfan Habib
() Karl Marx (D) Dharma Kumar
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47. ﬁﬁmﬂﬁﬁ,wﬁwmﬁm@iﬁm{mﬁlw%;
HT (A) + T o T T SRk W dfew e e werh g
VAl F AW OF TAE W fZE man
HAU (R) : A0 ARG 7 AE S % 9R s T e woaen
aﬂﬁaﬁﬁaﬁmﬂwmﬁmﬁﬁﬁﬁnﬁmﬁﬁﬁ:

(A) (A) 3R (R) 9 ¥ ¥ 7w (R), (A) #1 w8 =7 &

(B) (A}ﬂﬁrﬂ}ﬁnﬁ%.ﬁmm}.m}ﬁaﬁrmaﬁ%
(C) (A) §&1 &, @fFw (R) Tom &

(D) (A) 7o ¥, fFR (R) ¥d 2

48. ﬁﬁﬁﬂf@aﬁmﬁﬁﬁﬁwm%ﬁ*uﬂ?ﬁqmﬂmwmﬁﬁﬁzm'?
(A) =& g
(B) oM weiia
(C) = m=

(D) wmt HER
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49. Jesuit fathers were deputed to India for the purpose of :

(A) Promoting trade
(B) Establishing European supremacy
(C) Spreading Christian religion

(D) Suppressing socio-religious evils

50. Match List I with List II and select the correct answer from the codes given

below the lists :

List 1 {Travel‘.lers‘.l'

(1)  Ralph Fitch (ex)
(2) Thomas Roe (b)
(3) Bernier" (c)
(4)  Sidi Ali Reis ()
Codes :
(1) (2) (3) (4)
a4 @ (ar) (d) (e)
(B) (b) (e) (e) (a)
(C) (ax) Ab) (c) (d)
| (D) () () (b) (d)
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List II (Reign)
Humayun

Akbar

Jahangir

Shah Jahan



49. TR WRAE ® YT Y9 W owwm a4 .
(A) =R F wgrEr o
1.ZBL' I 995 & F19 F
() ¥ wd = demn ~
(D) Tiss-aftfs soedl =1 99 =0

50. NI A T A g Fw i R e R F Y Wl R =
i -

W 1 (At : et I (FTETh)

(1) Te% fre (@ T
(2) @FE D (b) e
(3) =fm (@  wEhiR
(4) Tt oeht om (d) el
T

(1) (2) (3) (4)
(A) () (a) (d) (c)
(B) () (c) ) (a)
C)  (a) (b) (c) (d)
D (e (@) (b) (d)
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51. The battle of Plassey was fought between the English and the Nawab of Bengal

in :
(A) April, 1757 (B) June, 1757
(C) May, 1757 (D) September, 1757

52 Which among the following European powers was the first one to come to

India ?
(A) Portuguese (B) English
(C) Dutch (D) French

53 Which one of the European powers was in possession of the Fort of St. David

situated near Pondicherry ?
(A) French (B) Portuguese
(C) English (D) Dutch

54. How many wars the East India Company had to fought against the Mysore

in order to suppress its power 7
(A) Three wars - (B) Two wars

() Five wars ' (DY Four wars
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51.

53,

54.

WWW%W%HH‘WWE'%E@W?

(A) U=, 1757 (B) [, 1757

(C) ré,lz?ﬁ? - (D) TeeER, 1757

frefafen irfm ofed § 4 909 92 amg § 9 o o 2

(A) et (B) s

(C) == (D} ShrETHt

el ® um ferm ‘¥R A % R W S ginda i S sfumn o 2
(A) T (B) gefmet

(C) e D) ==

‘ﬁegﬁmmﬂ*%ﬁmﬁmaﬁmmﬁimmmm%m

frn 2
(A) ﬂﬁ?ﬂ:&; ' EB}Eﬂ"ﬂEI
(Cy e Iz (D) =R gF
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55. Which one among the following was not a civil uprising of the 19th

Century ?
(A) Rampa Rebellion (B) Chuaro Rebellion
(C) Malabar Rebellion (D) Ganjam Rebellion

56. Who authored the book entitled, ‘A Gift to Monotheist’ ?
(A) Dwarkanath Ganguli
(B) Ram Mohar Roy -
(C) Ishwar.Chandra Vidyasagar
(D) Debendranath Tagore

57. Which among the following is wrongly matched ?

(A) Permanent Settlement — Bengal

(B) Mahalwari Settlement — Punjab

(C) Ryotwari Settlement — Bombay

(D) Ryotwari Settlement — Northern Districts of Madras
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55. mﬁﬁﬁmﬁmIHﬁMMﬁﬁaﬁﬁ%ﬁ_m?
(A) T fsw (B) Fam fagie
{c}wﬁm_ _ . (D) T fagE

56. 'U firR g 99fUR’ e e W oEs w8 o4 7
(A) BRHFE T
(B) THHET TF
(C) Twates fammamm
(D) ATy TN

57. fr=fafem 4 & =@ wea gafaa & 2

(A) T F<EE = T
(B) WEEETs! s=Ew — LEIC
(©) TaFardl T —  meE
(D) @l a<EE - mH F 3w 5
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58. Match the following persnﬁalities with their organisation and select the correct

answers from the codes given below :

(@) Ram Mohan Roy (1) Satyashodhak Sama]
®) Pandita Rama Bai (2) Ramkrishna Mission

*  {¢) Swami Vivekananda (3) Poona Seva Sadan
(d) Mahatma Jyotiba Phule (4) Brahmo Samaj
Codes :

A) (@—3), B)—1), [©—4), (d)—2)
B) (a)—(4), (®)—3), ()—1), (d)—2)
(©) m}_-ﬂ}‘ (B)—(3), (e)—(2), (d)—(1)
D) (a)—2), (b)—(4), ()—(1), (—3)

59. The Fourth Session of the Indian National Congress held at Allahabad was

provided over by :
(A) William Wedderburn (B) A.O. Hume

() Auckland Colvin (D) George Yule
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5. Frerfafan st 91 w7 G & wa gt S A e o

W W W W wfen

(a) THHEER T (1) Sewivs o
(b) wivEa TomEE (2) TaFsm fogye
(e) @ fadmr=s (3) T ¥ O
(d) TR e e (4) @ A
T

(A) (a)—(3), (B)—(1), (c}—(4), (d)—(2)
(B) (al—(4), (6)—3), (e)—(1), (d)—(2)
(C) (al—4), (bB)—(3), (e)—(2), (d)—(1)
@I (a—2), (B)—(4), (e)—(1), {dHE}
59. Wv@mﬁqaﬁﬁmﬂﬁﬁmsﬂwﬁmmwﬁ@m ?
(A) Tafea et (B) w3l 3w

(C) em=ee Frerfaq (D) = =@
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60. Who among the following nationalist leaders wrote the book entitled, ‘Poverty

and the Un-British Rule in India’ ?
(A) Dadabhai Naoroji {(B) Surendranath Bannerjee
(C) Ferozshah Mehta ; (I Balgangadhar Tilak

61. Match the following and select the correct answer from the codes given

below :
(1}  Auguste Offer, 1940 (@) Lord Wellesley
(2)  Subsidiary Alliance (5) Lord Wavell
(3)  Cabinet Mission ()  Lord Dalhousie
(4) Policy of Lapse (d Lord Linlithgow
Codes :

(1) (2) (3) (4)
(A) (b) (d) {alﬂ (c)
(B) () (c) (b) (d)
(C) (d) (a) (b) (c)
(D) (d) () (c) (b)
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60. TrfafEs 3 9 93 =] 30 3, 'J&d we T sE-fafen w5 3 sfea’ %

yEas ot o 7

(A) TEIE AR

(C) THirmme #em

(B) iy ssi

(D) =R faes

61. f=fafas =1 gafem =Fifsw 9o = Gy "o %231 9 @& 3@ &1 997 =i .

(1)

(2)

(3)

(4)

®He -

(A)

(B)

(C)

(D)
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qErEs A

a2 e

o = Al

(1)

(b}

(a)

(d)

(d)

1940 =1 AT UTNE

(ez)

()

(3)

(ex)

(b)

(&)

(e)

(er)
®
(c)

(d)

(4)
(e)
Ad)
(c)

(b)
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62.

63.

The Surat Session of the Indian National Congress in 1907 was presided

over by :
{A) Dadabhai Naoroji (B) Ras Bihari Bose
(G) Lala Lajpat Rai (D) Aurcbindo Ghosh

Which one of the following papers was published by Surendranath

Bannerjee ?
(A) Amrit Bazar Patrika (B) New India

(C) Yugantar (D) Bengalee

'Which one of the following movements was not associated with Mahatma

Gandhi ?

(A) Bardoli Movement

(B) Champaran Movement

(C) Ahmedabad Textile Strike

(D} Kheda Movement
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62. ﬂﬂﬁlﬁﬂ@ﬁﬁﬁﬁlﬂﬂ?*ﬂ:ﬁmﬁﬁﬂﬁﬂﬁwaﬁﬂ?
(A) TR™E A (B) ™= fasrt =g

(C) =T w9 ™ (D) anfa= om

63. Frafefed § 4 S seEr gsmg = 1 8 gw wERE B E o ?

(A) T TR i | (B) = sfrzw
(C) Fm=it (D) =meft
64. Trefefen A 4 Fre A<en merm Wit A TEfug T a1 2
(A) FRET s<rEm
(B) THRA a=re
(C) sememER TFers Tea

D) =g A=A
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65. The historical famous Gandhi-Irwin Pact was signed on :
(A) March 4, 1931 (B) March 23, 1931

(C) March 5, 1931 (D) March 6, 1931

66. Consider the following events and select the correct answer from the codes

given below :

(i) Formation of the Abhinav Bharat Society

(ii) Foundation of the Punjab Naujawan Bharat Sabha

(it1) Formation of the Hindustan Republican Association

(iv) Emergence of the Hindustan Socialist Republican Association
Codes :

The correct chronological order is :

(A) (D), (v), (), (i)

(B) (@), (&), (), (iv)

(C) (i), (), (), Giz)

(D) (i), (&), (D), ()
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65. sfmerd wiog wikdi-sfom wmim == won @1 2
(A) 4 =7, 1931 (B) 23 54, 1931
(C) 5 =14, 1931 (D) 6 ==, 1931

66. Wﬁmﬁmnﬂwaﬁﬁﬁamﬁﬁqm@ﬁnﬁmmw
Hifaw

@) efvTE wim wed w1 fi

(i) d=mE HeEE 9wa w1 RLik

() fegmm ﬁwﬂarm THITAUYS 1 T3

(i) fegmm dmfae fufess WifgeE =1 =3
we

W& FogEE T

(A) (@), Gv), (D), (i)

(B) (&), (iD), (i), (iv)

(C)  {iw), (8, (i), (D)

(D) (&), (), (D), (iv)
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67.

68.

69.

Bhagat Singh and B.K. Dutt had thrown bombs in the Central Legislative

Assembly in :
(A) October, 1929 (B) March, 1929
(C) August, 1929 . (D) April, 1929

Which among the following was the major objective of the Swaraj Party ?
(A) To oppose the British Raj within the Legislative Councils

(B) To adopt the revolutionary methods against .thg British Raj

(C) To Boycott the constructive programme of Mahatma Gandhi

(D) To organize the violeht mass-movements against the British Raj

Who among the following was not a leader of the Congress Socialist

Party ?

(A) Jaiprakash Narain

(B) Subhash Chandra Bose
(C) Narender Dev

(D) Aruna Asif Ali
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67. WK g 9 MNP 0 A 3309 faum gwr A 9y w13 v 9 )
(A) SR, 1923 (B) ==, 1929
(C) =, 1929 . (D) el 1929
68. frfefes & & SFw ‘wow = w1 ger wyg a1 2
(A) faum st & dm fafen =@ =1 a0y =
{B}ﬁﬁﬂﬁ.ﬁﬁﬂﬂﬂmﬁﬂﬂﬁﬁmm-
{Cjﬂmﬂﬁﬂﬁmmiﬂﬁﬂum
(D) fafewm ™ % fly & fiuess s9-ar<er 1 T8 SO
69. ﬁaﬁﬁaﬁﬂaﬁaaﬁﬁﬁmmﬁaﬁmqﬁm?
(A) ST A
(B) qamEs =9
() &% 4=
(D) eFon anfaw s
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70. The ‘Lahore Resolution of 1940° of the All India Muslim League was

proposed by :

(A) Sikander Hayat Khan

(C) AK. Fazlul Hugq

(B) Liagquat Ali Khan

(D) M.A. Jinnah

71. Match List I with List IT and select the correct answer from the codes given

below :

List I

(1) ~Mahatma Gandhi
(2) Surendernath Bannerjee

(3) Balgangadhar Tilak

(4) Annie Besant

Codes :

(1)
(A) (6)
(B) (d)
(C) (a)
(D) (d)

TB.C. : 20/14/ET—III

(2)

(d)

(el

(d)

(a)

(3)

(a)

(e)

(e}

(e)

a0

List II

(@) Bengalee

(b) New India

()  Kesari

(@) Harijan

(4)
(e)
(b)
(&)

()



70. aﬂﬁmﬁf@ﬁﬁﬁﬂﬂ"lﬂmﬁﬁﬁmﬁ”ﬁ?ﬂﬁﬁmﬁm?
(A) Tow<t gam @M (B) foarsa =t =m
(C) TH FIagd o (D) wRu TS5

71, g I W g I @ gifem FE aw A9 R R %9 9 @ SR @ w9
wHifey .

et 1 T 10
(1) W i (@) <l
(2) Y e ‘ &) g FvEm
(3) MR foes (¢) =
(4) Tt am= (@ e
e

(1) @) 3) 4)
A  ® @) (@) ()
B) (@ @© @ ®)
© (@ @  © ()
O @ (@) © ®)
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72. In which jail Mahatma Gandhi was imprisoned during the Quit India

Movement ?
(A) Yarvada Jail, Poona (B) Central Jail, Lahore
(C) Aga Khan Palace, Poona (D) Central Jail, Allahabad

73.  Consider the following events and select the correct answer from the codes

given below :

(@) Bardoli Movement

(b} Nnn-ﬂmparatinn. Movement

() Individual Civil Disobedience Movement
(d) Civil Disobedience Movement

Codes :

The correct chronological order is -

(A) (B), (a), (d), (¢)

(B) (a), (&), (e}, (d)

(C) (), (d), (c), (@)

(D) (a), (c), (d), (b)
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72. wﬁ@wﬁ%ﬁﬁmmﬁﬁm%ﬁﬁaﬂmwm ?
(A) =TE[ A, T ' (B) =19 9, @R
(C) &M @™ Wew, T (D) H=9 I, wEER

73. ﬁnﬁﬁamﬁmnﬂmaﬁﬁq-ﬂmﬁ%ﬁuwaﬁﬁﬁ@mmw
HifTg .

(@) =& @H'TEFT

(b) rEEEm =eH

(¢) =i '-E‘-lﬁrv’l'-‘:l HEA A
(d) WiETa-z@Em A=<eE

H :

& ‘W %

(A) ®), (@), (d), (c)

(B) (a), (®), (¢), (d)

(C) ®), (@), (c), (@)

D) (a), (e), (d), (b)
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74. Name the First Indian Governor-General of Independent India :
(A) Rajendra Prasad (B) C. Rajagopalachari
(C) Vallabh Bhai Patel (D) Abul Kalam Azad

75. Given below are two statements, one labelled as Assertion (A) and other

labelled as Reason (R) ;

Assertion (A) : The leadership to the revolutionary movement of 1920s was

provided by the Youth. class.

- Reason (R) : This movement was a powerful expression of resentment of

the people of India against the British Raj.

In the context of the above two statements which of the following is

correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation ;)f (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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74.

75.

WA= YRT & YIH WA TER SRE & AW gdnd
(A) T% WER (B) . T

(C) dcayw wE 92w | . (D) #gA Fa™ AwE

A9 3 T 78 T ¥ W wed (A) F9 T ¥ e g W e (R) w

™ ¥
Wﬁ}:mﬁﬁlgzu‘%mﬁmmﬂmmmw

. 8

mm}:ﬁm@mwﬁﬂﬁwmm%ﬁﬂuﬁwmﬁﬂ

VY )

R A wed & v § Prefafen § 3 w-w vl ¥
(A) {AJ%%R}%@%W{A}ﬁﬁwm}%

(B) *(A) R (R) ¥ w&@ ¥, g (A) %t 7@ =mew (R) 7 ¥
(C) (A) W&l & fog (R) 7o #

D) (&) Tew ¥ g (R) W@ %
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